Craven Equipment

Inspired by Adventure Built for Everyday

Bike — BSAA75 1971-72

The correct rack for these bikes is an ‘L2’ rack

The fitting kit is designed to mount the rack to the motorcycle and also has the provision
to hold panniers should you require it.

Included in the fitting kits:-

Main fitting kit

Part Number Quantity DESCRIPTION
B114 4 Spacer 8x15x50mm
FA1019Q 4 M8 full nut, stainless steel
FA1029Q 16 Washer, half penny, M8, stainless
FA1046Q 4 Bolt, standard head, M8 x 75 (3"), stainless
FA1476Q 2 Set bolt, M8 x 20, stainless steel
FA1477Q 2 Set bolt, M8 x 25, stainless steel
FA1530Q 8 Nyloc nut, M8, stainless
P428 8 Tube clamp, halves, 3/4 or 5/8 tube (2x8mm holes)
P437 4 7/8 tube clip
P470 1 Support arm right hand BSA A7, A10, A75, Royal Enfield
P471 1 Support arm left hand BSA A7, A10, A75, Royal Enfield

© Craven-Equipment.co.uk 01986 891096 contact@craven-equipment.co.uk



Craven Equipment

Inspired by Adventure Built for Everyday

Fitting the rack:- General notes

Identify the brackets and their respective fastenings; note that some brackets, especially
the long support arms, are frequently handed.

Loosely attach the brackets to the bike and then to the rack. Threads should be
lubricated before assembly. Brackets may occasionally need to have a twist put
in them or bending a little in order to line them up. As they are all in stainless
there is no surface coating to damage.

Finally tighten the nuts and bolts, which are metric and stainless.

See ‘General Fitting instructions’ for step-by-step advice for fitting a rack and panniers to
any machine. For advice specific to your machine, read on!

© Craven-Equipment.co.uk 01986 891096 contact@craven-equipment.co.uk



ﬁ"'"ﬁéa Craven Equipment

Inspired by Adventure Built for Everyday

Fitting the rack:- Specific notes about your kit
Main kit

This is a rather straightforward kit. The long support arms (P470 and P471)
attach to the skis that run along the bottom of the rack and to the pillion
footrest bolt. The arms are handed so make sure you have them on the
correct side. The front and middle mounting holes in the rack use the
spacers and then the tube clips (P437) which go over the frame rails. (See
fig 1). The tube clamp halves fasten to the tubular bottom rails of the rack
and hold the pannier mourning studs.

SHeRT L' PEGS USED

> O < | DANISH
A PN

B
O -
R LB oo,
(Reart »
SS/E’_IA"; . BSF
MEW_”H oot HERE (ForRWARD

SOPAET RS

[ 5/15”01/1 TU BE CLP

CARRIER SUPPORT ARM aadf}

ALB
AT e WL "
. L 2. 'Distania OuELE\
BSA rookeTr 3- &

© Craven-Equipment.co.uk 01986 891096 contact@craven-equipment.co.uk



